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KEEA{S, Sty Sty }, WK = 30, epsilon = 1le — 10
1 | FL =25, first Value (%8 — K M1{H)
2 | F, =8, last Value(#¢ 5 — K HIHE)
3 | F3=0.5% (S, + St,s) medianValue (Jr A K 1Mk 55 5 (1) T AL )
4 | Fu = Sty0.075 — Stsono.25 interquartile(HE7£0.75 £i7 B & 1k 5% & ok 2=
HEFE0. 2501 B Ik 55 5 ) 22
if |F1| > epsilon
then Fs = Sy, /Sy, = Fo/Fy
5 else tailHeadRatio(#% Jg — R Ik 45 & /5 — K1)
if | F»| > epsilon then F5 = 2 NI&:5 9
else Fs =1
6 | Fs= (St —St,)/30=(F»— F1)/30 avglncrease(“F-¥ikiE)
7 | Fr =max({S |k € [1,30]}) maxValue(fz X1H)
8 | Fg =min({S: |k €[1,30]}) minValue(#z/MH)
9 | Fy= Zszl St,. /30 average(“FH41{H)
10 | Fio=Yr, S7 /30 — Fy = Fy variance( /7 %)
11 i |Fo] < epsilon then Fiy = Fio varianceRatio( /7 % /“F3)MH)
else F1, = Fi9/Fy
if Zszl St, *wy > epsilon
then Fyp = 7223’%::1{:::;“:
else Flp =2
if Zszl St,, * wy < epsilon
12 and averageSkew (nlpFFAiE, A FR I B — KA Hi 6
S Siy #wi < epsilon TG & ffiweighted average, Fi 29k A 2 i
then Fio =1 j()
Hrf w, =085 % wy_1,wq =1
13 | Fis=Y1_, S, first7Sum (Fi 117 K A9 5% 5 s i
14 | Fy=53",,5, last 7Sum (55 7R )Mk 55 & s )
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if |ZZ:1 St (BVF13)| > epsilon
then Fi5 = *LO:“ Sty
2 k=1 Sty
15 clse tailHead7SumRatio(last7Sum/first7Sum)
if |Zi0:24 St | > epsilon
then Fi5 =2
else Fi5 =1
16 | Fig = (F14 — F13)/30 tailHead 7SumAvglncrease((last7Sum-
first7Sum)/30)
if | Fy| > epsilon
then Fi7 = F14/7/Fy
17 else last7AvgToOverallAvg(last7Sum/7/average)
if |F14| > epsilon
then Fi7; =2
18 | Fis = >_(|St.| < epsilon) zeroCount (O K EL)
19 | Fig = {first|{|St.| > epsilon}indes} firstNonzeroIndex (Ml %5 & H 25 — 1~ A A0
THR)
20 | Fpo = {last|{|S:,| > epsilon}tindes } lastNonzerolndex MV 5% & 1 i 5 — A NOH)
THR)
21 | Foy = {S, [{|St.| > epsilon} pirst} firstNonzeroValue(2 — /M NORDE 55 &)
22 | Foy = {8, |{|S:,| > epsilon}iast} lastNonzeroValue(# 5 — A NOKDIL S &)
23 | Fo3 = Fo0 — Fig+1 lifeSpan(lastNonzerolndex - firstNonzeroln-
dex + 1)
24 | Foy = (Fao — F51)/Fas lifeAvgIncrease (75 5 AN A= A J& #1735 19 <
&)
Fos =q—p+1
25 | S, S b maxZeroLength (3% £ {H N0 K %L)
[p, QI ELLX [A],S,, < epsilon
Fys=q—p+1
26 b {Sw), > Stn)e b maxNonzeroLength (FEZEA ORI K E)
[p, Q) NIELL X [A],S;, > epsilon
R L N E R Ot DY SR
IR
28 | Fas = argmaz(Sy, — St,_,,,t € [2,30]) maxJump (FHSEPI R I b T 5 K AH)
29 | Fyg = argmax(St(k_l),stk,t € [2,30]) maxFall (FHET K B e R H)
30 | Fyo =Y ptslSt, — St 1 1/29 diff Avg (BT A AR AT 2 57 K) 1 32))
F31 =3 (Stjs, — St.)/m
31 KA., ., > S, avgJump (P35 - FHH)
MRS, > Sy HRAAA
F3p =3 (S, — Stps)/n
32 Hrp Sy, > Siys avgFall (1 T ()
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XA {St0, Stays++ + Stag b, RIS T FFH 1 R B 5 21 M %, epsilon = 1e — 10
21 Shoy St
33 | Fy3 = Etf_'z;s?Tm’;iE’Ziiﬁiiiﬁ?ﬁi slopeLast21 (5 Jm 21 K (IFHR)
Fyy = z{:l (sgk—zkz;ls% )x(k—(0.5%(1+21)))
34 >imy (k—(0.5%(1+421)))%(k—(0.5%(1+21))) slopeLast21Norm(slopeLast21/slope)
s’ = {max of {Stit,ksm v yStan b
35 | Fy5 = Zilzl Sy, /21 averageLast21 (5 )5 21 K -V 151H)
36 | Fi = ZZZI Sy, first7SumLast21 (5 f5 21K A 11§ 1 7K 19k
AT
if |ZZ:1 St (RVF36)| > epsilon
then F3; = M
k=15t
37 clse tailHead7SumRatioLast21
if |Zi1:15 St | > epsilon
then F3; =2
else F37 =1
38 | I35 = ( ?:15 St — 22:1 St )/21 tailHead 7TSumAvglncreaseLast21 (last 7SumLast21-
first7SumLast21) /21
if |F55| > epsilon
then Fag = Y o015 Sy, /7/Fs
39 else last7AvgToOverallAvgLast21(last7Sum/7/average)
if |S23E . Si, | > epsilon
then F39 = 2
40 | Fyo = argmax(Sy, — Sy,_,)t € [2,21]) last21 MaxJump (7£ 5 521 K HmaxJump)
41 | Fu = argmaz(Sy,_, s, ,t € [2,21]) last21 MaxFall(1F 5 f5 21 K HmaxFall)
42 | Fio = Y 01018k, — Sty 1/20 last21diffAve (7 5 J5 21 K H 2% 57 (1T 5 1H)
Fy3 =3 (St,y, — St,)/m
43 HAr S0 > Ses last21avgJump ()5 21 K 135 L FHE)
MRS,y > o I FRHLET
Fyq =3 (S, — Stpn)/n
4 | KPS, > 8, last21avgFall (5 5 21 R I~F- 35 T FE1H)
WS, > iy, TR
MHAEES” = {S1, S, S 54} = {5011 Suus Tnls Sows Ditas s Yoo S}
85 | Py = S G E a0 slopeWeekly (SR I AHK 1P 141 {8)
46 | Fue = argmax(S, —S._,,x € [2,4]) weeklyMaxJump (% J& 5 — PmaxJump, 24 J5
ST E7)
A7 | Fy7 = argmaz(S,_, — S.,x € [2,4]) weeklyMaxFall(5 J& 5 — P maxFall %A J5 5
T49)
48 | Fus =30 o[SL — Sp1l/3 weeklydiffAvg( i 5 — A diffAvg, 285 5-F
1)
Fag = 32(S041 — Sea)/m
49 Hp s > S, weeklyavgJump (5 J& 1)1 35 _EFHE)
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Fso = 3_(5;, = Siqa)/m

50 | HHhS, > Sh4, weeklyavgFall (5 172 T FAH)
NI RSL > S1 ) IR AR
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51 | F51 = — 220:1 Z;:tl’“stk log Zi;itlkstk entropy (%)




